LEXICOLOGY: 2006-2007


(Escribano)




Lexicology and Lexicography are two different things. Lexicography builds dictionaries and its first step is to collect data. In Lexicography you have to collect all the documents and evidence, making sure they are representative of a given language Besides you have to find techniques to organise all that information. It is not an easy task, since words may have many different senses and uses. You have to decide the sort of entries you’re going to use. Besides you have to take into account things as that it is not the same a dictionary for students, than for kids. There are dictionaries with or without pictures, with elaborate definitions or gramatical information.


Lexicology is a bit different. It is related, but it deals with the Lexicon. Traditionally linguistic studies started being diachronical, and it was basically ethymological. The basic idea was to describe the changes a word suffered throughout history. Historical linguistics described mainly the meaning of lexical items. Now lexicology has to do with the nature of those lexical items, and not just with their meaning. They have phonological, morphological, semantic and syntactic information. Lexicography is mainly synchronical now. Lexicology is then the theory of the whole lexicon and lexical entries. The form and how the lexicon works. We want to know why and how the lexicon can be so efficient. 

Lexicology is interested not so much in all the facts but to know how the system works. It is insterested in understanding the “crucial” cases. What sort of information is included in this lexicon and how our brain is like a computer that goes through all this and finds the information quickly.


While Lexicography is largely based on traditional grammar and there is no serious linguistics involved there, Lexicology provides a good theory for the consumption of people who are linguists and work with language. There are many linguistic aproaches. Some believe that language is a social institution, something provided and available for a society. It is not the “possession” of any individual. There is a major trend, related to Chomsky’s ideas which consider language as something in the heads of the people, some sort of ability. There are massive differences among our own personal lexicons. We don´t have exactly the same lexicon and language, but we share some things that permit us to understand each other. Chomskyan linguists believe that the best object of study is the individual language not as in the case of a “common” language as contained in the RAE dictionary and its grammar. To understand what really happens on our mind we need to do psycholinguistic tests to the speakers. We can say it is a sort of non-orthodox sort of lexicography, interested in the mental language competence of individuals. Institutions like our Language Academy have to do mainly with politics and the eighteenth century, and the wish of countries to maintain empires united. However this doesn´t mean that there´s no system we all share. In some countries with no institution as such, there are some dictionaries which fulfill that same function, like the Webster or the OED. In other countries some publishing houses, radio stations or television channels set the style, like the BBC in the United Kingdom. However this is not interesting for the linguists. People have different senses of a same lexical item and this makes my English different from other people´s language.


Lexicology is a theoretical approach, and it follows a particular linguistic theory. What happens when we speak or listen is what we are interested in. The real problem for Lexicology is to decide what to include in the lexical entry or not, and how the system works in the individual.

In the OED, for instance, we will find a number of definitions in a sort of omniscient way. There are lots of words and senses we don´t know. So, what is the real content of the lexicon? The lexicon is a sort of deposit of information which cannot be formulated by rules. From the 1940’s there has been this attempt to characterise the lexicon, and there was a sort of regulation with things like the plural or the passive considered as rules that can be applied to it. However, Irregularities MUST BE LISTED. The plural of tooth, has necessarily to appear, unlike houses, for example. Teeth cannot be deduced. If we applied the rules, we would get something like *tooths. 

By convention, the Lexicon is a deposit of EXCEPTIONS. What else doesn´t follow? Why do we say dog instead of can (“tin”). We can´t forget the arbitrariness of linguistic signs and all that which is  arbitrary has to be included. The combination of sounds in each language is arbitrary. Arbitrariness meaning/form. Only in the case of onomatopaeias we could say that arbitrariness is not that clear, however, that is not 100% right, since our chickens don´t make the same sound in English than in Spanish, for instance. The connection meaning/form is not predictable, which means there is “no rule”:



Form

Arbitrary = Not predictable = “no rule”


Meaning

The lexicon includes therefore all the signs in which that association form/meaning is not predictable. Sentences, however, cannot be listed because we would have an infinite lexicon then. The number of sentences we can produce is infinite. We need to select smaller pieces, words and phrases, but never whole sentences. So once you know the words, you expect that other elements in the grammar will explain what happens when we combine those words. That has to be calculated as when you do a mathematical operation.

The lexicon is a “list” and a term common nowadays for the Lexemes is Listemes. Which words are expected to appear in the lexicon?

a. All minimal signs: A sign that cannot be broken into parts, maintaining a meaning:

form

GIRL



meaning: “female, human being, etc….”

We cannot split the word into two meaningful units:


Gir /l

However we could do it in a case like this:

Girl / -ish: “sort of way”




If you know what both components mean, you should know what they mean once we attached them together. So, girl has to be included in full, the same in the case of –ish, but not the result of their combination, since it is predictable.

b. Idioms:They must appear too. Units like the following:

Give the sack

Spill the beans

Hit the fan
are non-compositional. Their meaning is not the result of the addition of the meaning of their three elements. Their combination, with an idiomatic sense, is not predictable. The combination of words with a literal meaning won’t be listed, however, as idioms, they must be.

With a sentence like the following:


I made an omelette

In the world of possible omelettes we are taking one which is OUR omelette. One omelette of the group of possible omelettes. Compositionally we are complementing the meaning of omelette with AN, MAKE and I. This sentence is perfectly predictable. Compositional meaning by addition of all the meanings of its elements. The sentence then doesn´t need to be listed in the lexicon.


Expressions like, Look down on have a sort of near literal meaning. It is not completely transparent but it is quite near. However Put up with is not predictable at all. Unpredictable and small compositions have to be listed in the lexicon. 


What about numbers? Should we expect numbers in the lexicon? As with the rest of words, only the irregular forms, the unpredictable forms.



11 “eleven”= unpredictable



35 “thirty-five” = Unpredictable.


There are other types of irregularities which should be listed:

Poli’tician/’Politics/’Policy



- ian is sort or predictable, however what about the position of the stress? That phonological fact is not predictable, so that word should be listed because the position of its stress is a sort of exception in the phonological field.

Revolution

Revolve /-er

Revolver 

· er is normally a suffix with the meaning of “agent”, but not always. The word Revolver, “the gun”, is not predictable, so it should be listed. The phonology is predictable, it is transparent, but its meaning is not.

· In the case of re’vo’lv – (t) ion we move the stress and create a phonological irregularity. It is not predictable, then, it has to be listed.

· What about the meaning? Cuando signifique “dar vueltas”, sí que es predecible, pero en Revolution as “ violent social upheaval” it is not predictable and it will have to be included in the lexicon.

Let’s consider other examples:


Child + hood


Child + less

We must list -Child, -hood and –less. But what about childhood? Should we list it? In English, the product of affixes is limited:


N -> N+HOOD

Suppose we include this rule in the grammar. We would get things like:


Manhood or womanhood 

And *chairhood?

The answer is that –hood can only be applied to a set of nouns:


Fhood (Nst): Nst




-Hood




C-SEL, Nst

Should we say Nouns of human beings?


N --------------( N + Hood





Girlhood





Adulthood





Boyhood





Babyhood





* Toddlerhood? Why not?


We might understand it, but a native speaker doesn´t have it in his/her mental lexicon. You cannot predict the existence of a word. When we apply a rule like that we will get words that don´t exist in the usage of native speakers. 

*friendhood: “state of being a friend” 

 friendship: “relationship between two friends”

*aunthood

*cousinhood

Words exist even incidentally in the individual lexicon since the combinations are limited. We cannot predict the ones that will be in somebody’s lexicon. Those that exist have to be listed. We must put all derived words which aren´t transparent because we can´t predict hem from the forms and the meanings of both components.


Wide + th = *wideth



Width: It is phonologically anomalous: /ai/ > /I/

We have to list in the lexicon existent formations to the extent that we cannot simply put a rule, because we can´t makes rules that overgenerate. Inflected forms: Verbs, etc: Number,  person…

In English we have five forms for verbs. The number of entries would multiply in a dictionary if we had to list all the forms. Inflectional forms cannot be listed. We will compute the forms using morphological rules.

Renuncia-r-ía-mos

Vst   Pr   r Future

                          Conditional





Vst






Vst

Mod


Person








Number




Tense
          -ía-


-mos

Vst Pr
   r




- (







- s

Irregular verbs, obviously, have to be in the lexicon because it is impossible to predict them:



Go - *goed




Went UNPREDICTABLE
If you don’t list them you need an equivalent device, such as another rule. Te hará poder conectar lexical items y generar otras formas. The rule can´t predict exceptions, so you have to list them or restrict the rule by puting restrictions in the application of the rule in the entry of the lexical item. Es decir, podemos especificar en las entradas léxicas de –ish, -like, - hood etc. Lo que podemos conectar con ellas o no o en la entrada de CHILD:



MOR



      DER         ISH





   LIKE





   HOOD


LEXEME: What is a lexeme? Why don´t we just say word?  One thing is the normal dictionary where we all look words up and another completely different thing is the mental lexicon, which is not just words but it might consist of units smaller than words. It won´t be a book with an index. When we have doubts about a word we check in a normal dictionary.


What do we mean by word. What do other disciplines mean ?

1. Word token: Number of words in a sentence. Number of the units we can divide the sentence into.

2. Word type: All the different forms of a particular word: Book/books. Am, are, is… are forms of to be. Word type is something similar to what we mean by lexeme. One word type migt have been represented by more than one of the tokens. In the sentence:

The key to the door of the library
There are six word types. (Careful with the term Realizations,which means a different thing).

3. Word forms: People use words in different senses, so there is a lot of ambiguity.




4. Technical uses:

A word is Minimal free form in SYNTAX, that is forms that can be find in isolation. 

-When do you arrive?

-Tomorrow


What about a modal verb, a preposition, etc.? Isolated in a natural context is difficult though.

Word for Morphology: It is a form that has meaning, sound, and has received as many inflections as possible.

Ven-d-r-ía-mos: it is not posible to add more inflections here.

Obviously this is very different in the different languages and the word is a very complicated unit in some languages.

In Phonology, the words means “form able to carry a main stress”. For example: me lo dijo is a phonological word in Spanish. In English The book is a phonological unit, una WORD desde el punto de vista fonológico. Así que no coincide con otras definiciones que hemos visto.


In Semantics WORD is not used too often, but when it is, it is used roughly as a concept.


In Lexicology we need a concept that does not overlap with the definitions seen above: LEXEME.

LEXEME=PHONEME=MORPHEME=SEMEME=TAGTEME


Relevant unit of sound: Combination of properties that distinguishes sounds. If you change one you chage sound and meaning. 



Mad – map




Relevant change


Allophones: They are all the variant forms of the phoneme. Irrelevant realizations when distinguishing sounds. 

Morphemes: Relevant unit for Morphology. Signs are divided into meaning and sound. The morpheme has allomorphs, depending on the context.



Im- 
Impossible


Ir-
irrelevant


Il-
illegal


In-
intangible


All those forms correspond to the same morpheme: They are allomorphs of the same morpheme. In Semantics there is a similar distinction as well: SEMEMES: which can be analysed as sets of ALLOSEMES.

The relevant unit on syntax is the TAGMEME (Lo que es el sujeto de la oración, etc.) Se puede dividir en ALLOTAGMS: NP, PP, ...

What corresponds to a Lexeme? What is a lexeme split into? ALLOLEXES. The reason for the use of Lexemes and Allolexes is “similar” to the distinction between morpheme/allomorph.  A lexeme is not a word. In a dictionary  it is defined as “a sort of abstract form…”, an information structure with information relevant for the distinction of one lexeme from another. It is a very complex unit. Basically it contains a Phonological, Semantic(definitions and denotation of the word), and syntactic box (Category and other properties for the word to be used: C-Selection (NP, Clause, etc.)). It contains another box with morphological information: Affixes, etc. So, a Lexeme is  a complex information structure which contains features important for the sound, structure, meaning and behaviour of that form.

In a dictionary we will find listed CITATION FORMS. In a Lexicon we will find citation forms as well, which correspond to the name of the lexemes.

LEXEME : Pondremos aquí the citation form, that is its “label”


PHON: [         ]

SEM:   [         ]


SYN:    CAT:

            C-SEL:

MOR:   [         ]

In a dictionary we won´t find the form books, because it is unnecessary and both forms book/books are related by a general rule of plural formation. So, a lexeme we could say that It is all the associated forms in which a word may appear. We will bump into a methodological problem here. A lexeme may vary due to many different reasons:

1. Slightly different pronunciation:

i. In-

ii. Ir-

iii. Un-

iv. Non-

2. The meaning of the lexemes may vary slightly as well:

weather

good
person



job

En sintaxis:

I forgot the keys

I forgot to tell you

In lexemes there are many ways in which allolexes may differ and there are more allolexes of a lexeme than allomorphs of a morpheme. Entonces, cuando en un texto hay dos casos como en los ejemplos de arriba, ¿se trata de dos lexemas iguales? This is very difficult. We need criteria to decide which allolexes belong to which lexemes.

Traditional grammars were devoted to Latin. The root of the word was believed to be the head of he word:


Civitas

Civitatem

Civitate

The traditional grammarian would say that the important part is the part that remains constant in all those words above. They were considered the “core” of the word. The constant part was the “lexeme” and the other parts attached to it were the morphemes. This sort of structure is common in Indo-European languages: ROOT+AFFIXES. So we assume that the root tends to be on the left side, considering the first part on the left semantically relevant and the affix an accident. Pero ojo, este no es el concepto de LEXEMA con el que nosotros trabajamos.


N

Civita


tis

head


affix


This sort of analysis is still very common in schools. However, we think that the head is not where the main meaning is. For us both civita y –tis are lexical items.

For traditional grammars:





Vb




Head



Nation
al
ize



Lexeme

The head, however, does determine the category of the word and that is why what traditional grammars considered just accidents, affixes, are the head for us:






  V





A



Nst 

Aaf 
VAf



Nation
-al-
-ize


We call this the base of a form. Lexeme will be any lexical item. The three of them are lexical items and they will be listed, so:

IZE

PHON: [/aIz/]

SEM:
    DEN: -IZE


    DEF: “cause”


SYN: C-SEL    M: St



   CAT: A


MOR:  
M-CAT: V



M-TY: SUF



M-STR: [   ]

¿Qué pasa con casos como el siguiente?:

· Read – able
· Vol    - uble
· Gull   - ible
Utilizaremos –ABLE como etiqueta del elemento léxico, pero son todos variantes de lo mismo. Elegimos –ABLE porque estadísticamente hablando es el caso que más se da. (Lo de que son variantes de un mismo lexema o no lo discutiremos luego de todas formas, porque no parece tan claro).

En resumen:  Lexeme in our sense is something completely different. Before, it was just a differentiation of basic meaning/accidents. Además los morfemas se asociaban a la forma, asumiendo que no tenían ninguna importancia desde el punto de vista semántico. However, we think they have exactly the same importance. Lexeme is for us the same as LEXICAL ITEM. How can we identify lexemes? How do we decide what forms are lexemes or allolexes?

A voluble man

VOL: “that can be turned around”

-UBLE: Is there a lexeme –UBLE? Or is it an allolexe of something else?

A voluble man is capable of…

Is –UBLE = ABLE? The meaning is not literally the same. Are they allolexes of the same lexeme? We will have to run a test like replacing one for another and if the meaning changes or not that will give us the answer:


* volable


* Capuble

We’ve not taken into account the phonological rules. V becomes U when it gets vocalised. They are two contextually conditioned allolexes of the same lexeme. So, in this case the relevant factor is the phonological factor.

What happens with the following examples? Are they different lexemes? If they are allolexes, is there a phonological reason behind?

IN- (Latin)

A- (Greek)

UN- (Gmc)


Podríamos pensar que es un sonido o letra tras esos prefijos lo que nos hace elegir uno u otro, pero entonces ¿por qué tenemos In-Moral y sin embargo tenemos A-Morphous en lugar de *In-Morphous? They are completely different forms with a similar meaning. In this case the factor is the context. They are negation prefixes in Greek, Latin and Gmc languages. Why the variation? It is not a phonological factor, but  etymological. Should we classify them as allolexes of the same lexeme? YES.


This car needs servicing (“check the inside”)


This car needs oiling


This car needs painting (“you paint the inside”)


This car needs washing (“you wash the outside”)


This car is fast

This car is expensive

We are in this car

I sold the car

I saw the car


The car you oil is not exactly the car you wash. Different contexts=different meanings. This is called systematic polysemy. ¡Ojo, no son sentidos distintos que encontraremos perfectamente diferenciados en un diccionario. Bank es mucho más polisémico que las tres definiciones que podemos encontrar en un diccionario. So, how many car LEXEMES will we have in the lexicon? That’s a really difficult problem.

FOTOCOPIAS ESCRIBANO:

There are many different criteria to decide what a lexeme is. It is a very difficult area and lots of research is needed. We need some sort of test to decide what is a lexeme or what it is not.


Stimulus – i


Campus      - *campi




- uses

Si tenemos como test la norma de la etimología, entonces por qué no podemos decir *campi? Además el hablante nativo no tiene ese conocimiento etimológico como para saber que la terminación –i para el plural es latina o la terminación –es es germánica (stan-stanas).

PARTIAL HOMOPHONY:


Bottle N: bottle, bottles


Bottle Vb: bottle, bottles, bottled, bottling...

They share certain forms: bottle, bottles. They have the same spelling and pronunciation but the homophony is only partial because the rest of forms can´t e find in the other paradigm: If taken in isolation they are homonymous and homophonous. The LEXEME that represents all the forms of the paradigm is the same for the Noun and the verb, however the number of elements is different.  If they were complete homonyms and homophones it would turn out that they would belong to the same category (y podría ser que pertenezcan al mismo lexema, pero ojo, no necesariamente y por eso es tan complicado).


DRINK VS DRINK
Parecen ser homónimos, homógrafos, homófonos y pertenecen a la misma categoría. Sin embargo, demostraremos por medio de un test que pertenecen a lexemas diferentes:


a.Poor girl, her boyfriend drinks, and she drinks my water.

If they are the same it should be possible to elide the second one as in the following case:

b. She drinks white wine and he (drinks) strong Belgian beer.

This rule is called GAPPING. To avoid the excess of unnecessary information or sounds we tend to eliminate that excess. First and second Drinks in b) are the same and we don´t bother to pronounce the second one. Semantically, in the logical form, we interpret them as the same but we are “lazy” and we avoid it to pass into the phonological form. However, the following gapping is impossible:

*Poor girl, her boyfriend drinks, and she (*drinks) only water.

This gapping is impossible because theyare different lexemes. Be careful. They share all the forms in te two paradigms. They are systematic homonyms, but they don´t belong to the same lexeme. At LF we don´t gap anything, but at PF we can do it. Si en el caso que estamos analizando no lo podemos hacer, pues es que se trata de dos lexemas diferentes. This is called ZEUGMA TEST by lexicographers. 


The form is important, but it doesn´t mean that we should trust it completely.

En resumen. Si dos homónimos pertenece a diferentes categorías, probablemente se trata de dos lexemas diferentes. No es una regla 100% aplicable, pero es bastante regular. 


1 ‘Contrast: N

2 Con’trast: Vb

El número de formas de sus paradigmas es diferente. Pertenecen a dos categorías diferentes. Son homógrafos, pero no son homófonos, su acentuación es distinta. Sus significados son diferentes también. 

Fotocopias Escribano. Drink depending on the complementation it takes might be one lexeme or another.

Arrival: denotes an event.

Individuals and substances are usually denoted by nouns.

However these are all nouns which denote events:



Bill’s death, marriage, decision, arrival

There are close connections between lexemes and ontology, but those connections aren´t clear.

SYN:
CAT:


C-SELECTION 
[PP





[“with”


Con’trast ---------------( Noun Complement

+ A complement introduced by WITH.


You contrast something with something.

Not all PP’s will do. There are verbs which select different kinds of complements:


I believe that he is right.


I believe your story.


I believe you

¿Es realmente el mismo lexema? 


Semánticamente: I believe in you significa que eres una persona en la que yo confío, mientras que I believe you significa que creo tu historia.

Internet: ZEUGMA

A well- established test for examining whether two different senses of a word are separate lexemes or not is the so-called zeugma test: two different senses of a word are expected to create a zeugma (i.e. nonsense) if they are put together in the same phrase.

A polyseme is a word or phrase with multiple, related meanings. Homophonous words are judged to be polysemous if their meanings are related, and since the vague concept of relatedness is the test for polysemy, judgements of polysemy can be very difficult to make. Because applying pre-existing words to new situations is a natural process of language change, looking at words' etymology is helpful in determining polysemy. Some apparently unrelated words share a common historical origin, however, so etymology is not an infallible test for polysemy, and dictionary writers also often defer to speakers' intuitions to judge polysemy in cases where it contradicts etymology.

There are several tests for polysemy, but one of them is zeugma: if one word seems to exhibit zeugma when applied in different contexts, it is likely that the contexts bring out different polysemes of the same word. If the two senses of the same word do not seem to fit, yet seem related, then it is likely that they are polysemous. The fact that this test again depends on speakers' judgements about relatedness, however, means that this test for polysemy is not an infallible test for polysemy, but is rather merely a helpful, conceptual aide.
La identificación de los lexemas. La estructura del léxico. El léxico en la gramática: modelos de acceso paralelístico, y tardío.

For the Chomskyan theories, Language is a module of the mind.

I-Language: System of the mind

Brain damage: It doesn´t necerssarily affect memory + language.





LEXICON--------------------( L (Conceptual Intentional System.C-I)

[Sem[…]]




Capacity to reason. Roughly







equivalent to thought. It







contains memory (Long term)

Liguistic
Articulatory

Meaning
perceptual



Systems



(AP)

Whenever you activate a lexical item, it is connected to a concept. That connection might not be direct. For example, [car] has certain semantic meaning in the language system. But when you use it, your experience will be applied. How do we separate linguistic meaning from the rest of meanings? We need some sort of criteria. If we don´t separate lexical from linguistic meaning making Lexicology would be like writing an encycolpaedia. 

In Saussurean terms: Language is a connection of forms: There is only form in language: The form of meaning and the form of sound. By “form of meaning” we mean lexical meaning, that is, the substance of the meaning. Expressions mean things and that is what we have in real situations. When we speak we activate our encyclopaedic meanings plus the lexical ones. Since they come together, how can we distinguish them? 

Until the 50’s it was thought that that distinction was possible, following Aristotle’s distinction between accidents and essence (i.e. the set of properties without which that thing wouldn´t be that thing. Or what is the same, Necessary and sufficient conditions for “x” to be an x. For instance, being painted yellow is not a necessary condition for a car to be a car.

CAR

SEM  Vehicle: +


Engine: +


Wheels: (+)

In 1951, Quine questioned the division necessary/unnecessary information. There is no safe criteria for him. “Two dogmas of empiricism”. Since then most people have scruples in resting in that distinction anymore. Cognitive science learnt to ignore that distinction.

Nowadays people tend to refer to that dicotomy by Kant’s use:

1. analytic

2. synthetic

1. It corresponds basically to ESSENCE. He talked about it using propositions. A proposition P is analytic if the predicate of P is contained in the subject of P. It is a property contained in the subject of P. Therefore they are uninteresting because they tell you nothing. A predication is suppososed to tell you new information. In principle, analitic propositions do simply unpack things which are on the subject. It opens the subject to reveal the properties of the subject, so, ifyou specifically want to analyse the inside, you use analytic propositions.

Man is an animal

Man is rational

MAN

SEM: 
Animal:+


Rational: +

2. It corresponds basically to ACCIDENTS. P is synthetic if the predicate of P is not contained in the subject of P. New information. You learn something that is not entailed in the nature of the subject. You put things which were not connected together, and you learn something.

Quine thought there were no analytic propositions. He said there was no way to decide what is accidental or essential. For the traditional linguists Synthetic information is equivalent to encyclopaedic information, and analytic information is what is kept in the lexicon. Quine thought that the distinction was necessary, but it was questionable from the scientific point of view. He gave a tremendous blow to the traditional distinction.

It is true though that the distinction between the knowledge of a competent/incompetent speaker exists. The native speaker has a lexical knowledge that covers certain things and not others. Expectations about what the competent speaker must know vary. Hay una esencia. Nadie te va a llamar incompetente por no conocer la distinción entre dos tipos de árboles muy parecidos, pero sí con otras cosas más básicas. Lo que no sea conocimiento básico, será enciclopédico. De todas formas, la distinción se las trae. You have to follow a criterium, and it is basically the intuition of the native speaker. Taking into account the native speaker’s reaction is the only feasible strategy.

MODELS: As regards the relations established betweeen the lexical items:

1. LEXICON= Just a  set (With no other connections or structure. ZERO OPTION.) 

{L1…Ln}

For Chomsky we don´t really know enough about the lexical architechture. De todas formas no excluye el que haya una estructura mayor. An example of those who defend the Zero Option are the so-called MINIMALIST approaches.

2. LEXICON=A SEQUENCE: commercial diccionaries are organised alphabetically. These approaches defend a model in which the order of the lexical items will be based on some sort of criteria. <L1,L2,L3…Ln>. La existencia de un orden explicaría errores como decir “orgasmo” en lugar de “órgano”, similares en forma (fonéticamente) y en categoría. Something must explain why when we don find a word (The ToT phenomenon) we tend to go through similar options till we find the word we are looking for. Cuando decimos que algo lo tenemos en la punta de la lengua y nos tomamos un tiempo, pensando palabras parecidas hasta que nos viene a la cabeza la que buscábamos. If there is some sort of sequential organization it is easy to make that error. Ese orden tiene mucho de fonético. But there is also a semantic reason behind that order. (como por ejemplo el que los tipos de muebles estén todos juntos, o palabras que por alguna razón u otra se parecen.)

“ Priming experiment”: As a consequence of the introduction of a new term, all the structure changes.

3. LEXICON: PARADIGMATIC: Saussurean view. Language as a system of systems where all members are related. Items that alternate in different positions or situations. Language as “a set of sets of choices”.

Like

Likes

Liked

Etc.

This new book

*This new books

El contexto nos hace elegir THIS/THESE


But the problem is to decide things like how many paradigms we have in the system. Saussure speaks of paradigms at all levels. The problem is then that there are too many variables at all levels: PHON, SEM, SYN, etc. Multiple (thousands) different paradigms. La idea de un solo sistema con opciones no es factible, sino un sistema de sistemas. Cada paradigma es un sistema. La teoría es correcta y explicaría muchas de las asociaciones que hacemos. De todas formas el sistema tiene que ser mucho más rápido.

4. SYNTAGMATICALLY ORGANISED:
 <L1+L2+L3...+Ln>, each of them not excluding the others (Saussure). So we should expect lexical resources organised on a similar way. Ejemplos de relaciones sintagmáticas:

Collocations: Two lexical items which select each other with no much reason:

Fish and chips/*chips and fish.

Idioms: hit the fan

Selection: Averse to, compliant with, etc.


Weisgerber, Trier or Von Wartburg belong to the so-called German tradition. They tried to demonstrate that the lexicon is organised as a series of things: Syntagmatically organised, that is to say, words that can appear together, etc.








Typically standard contexts will help the language learner to master the language. When learning, the combination of scenes + vocabulary will help you. You might get a competence similar to that of a native speaker (o por lo menos te da esa sensación). Organizar la enseñanza por campos semánticos es muy común. Dictionaries of synonyms tend to be organised in this way, in semantic fields. 


One of the major lexicological studies in he world: FRAMENET. FRAMES are little simulated worlds.

5. HIERARCHICAL ORGANIZATION: with a very big lexicon, how can we explain the speed at which we search things in there? There has always been (in science, for instance) this traditional attempt to classify things in the universe, and the same happens with the lexicon.

World



Individual

substances


predicated

Abstract
concrete


events


properties

Dependiendo del fin de la ciencia, esta clasificación varía. Si tenemos una jerarquía, está más que demostrado que podemos encontras las cosas más fácilmente. Clases superiores que contienen elementos que  compartirán esas características y a la vez serán superiores a otras subclases. La ventaja es que una vez que sabes que esta organización existe, puedes predecir muchas de las propiedades de un elemento léxico.

6. NETWORK: Red en la que todos los elementos están relacionados de una forma u otra.




Levelt critica los modelos jerárquicos por el problema de la hiperonimia. Si habláramos con hiperónimos perderíamos la especificidad. Si tengo cinco hermanos, tengo evidentemente dos también, pero si tengo dos, no tengo cinco. perro implica “animal”, pero animal no implica “perro”. La especificidad es necesaria o el sistema activaría un montón de piezas que tuvieran un mismo criterio. Iríamos a la respuesta más rápida aunque no fuera lo suficientemente específico. perro hereda los rasgos de animal, pero añade un rasgo nuevo, “canino”. 

Para Levelt un modelo jerárquico no es válido porque es secuencial, aunque su argumentación no es muy fuerte, ya que el perro sí que hereda hacia arriba los rasgos de su hiperónimo.

THE MINIMALIST APPROACH

The classical view, the standard diagram was the following:




      LEXICON






Chomsky says that the organs with which we speak and perceive are used for many other things and those systems are independent: like when you have an accident and you lose the capacity to talk or whatever. Para él, lo importante es lo que está en esta llave, es decir, lo que él llama “I-Language” y que para él es como un órgano. Although it is clear that we use tose organs for other things, at least they are adapted for language. However, it is out of the relevant part highlighted before. No duda que están especializados para el habla, pero no se mete en ello porque no le parece una materia interesante para el lingüista.


    LEXICON






The computational system can only compute lexical information, so the linguistic information is lexical information. We know there must be phonological, semantic, syntactic and morphological features in the Lexicon, which is a set of lexical items. Ésa es la única definición que Chomsky da. Each lexical item is also a set of features. Escribano dice que todos esos rasgos no pueden estar ahí tirados de cualquier manera en la entrada léxica, así sin más. Además no todos pueden tener la misma importancia. They have to be internally organised. Each set cannot have unorganised features. It has to be a set of sets and all those features must be organised in some way. Officially he says that there are sets of features, pero no entra en la organización. No se moja. The different sets are bunches of features and there are features which are more important than others, most of them related. In the case of the phonological features, information such as stress patterns are used by the PF-System. Obviamente no podría usarlo si no estuviera en el lexicon. Las palabras derivadas no están en el lexicón. Lo que encuentras en el Lexicón son lexemas. No tiene mucho que ver con la representación semántica. Según Chomsky nada de relevancia ocurre en la parte fonológica. Las características sintácticas son menos obvias que las otras dos que hemos visto que están en el lexicón. ¿Qué tipo de features? Las sintácticas tienen que encontrarse porque el sistema no funcionaría de ser de otra forma. Tose are syntactic or formal features. El sistema en general, contiene información que el sistema necesita para funcionar y el resto queda fuera. Lo enciclopédico, lo pragmático, etc, queda fuera. 


Lexicon  SDº Syntactic features applied here. AT ONCE!



INITIAL ACCESS to the Lexicon: ONE – STEP: Si estuviéramos todo el rato yendo y viniendod no sería eficiente.

LEXICAL INTEGRITY: Anything smaller than a full lexical entry is invisible.


La computación puede ser un proceso largo, y si estamos acarreando toda la información sintáctica, etc. Y no es necesaria para lo que estamos haciendo hasta llegar a L, ¿para qué la hemos acarreado todo el camino? Syntax is blind to semantics. ¿Es mejor llevártelas contigo o ir a buscar lo que necesitamos al lexicón, cuando lo necesitamos? Esta es una de las mayores objeciones del programa minimista. Si el sistema funciona como dijo inicialmente Chomsky, ¿llevas información que no necesitas a lo largo de toda la derivación?


Distinguishing phases of derivation: Si vas a decir una oración muy larga no coges todas las entradas léxicas, sino que coges las necesarias para completar una PHASE, y según la completas, sigues completando el resto. Es eficiente para Chomsky el dividir en partes las derivaciones complejas, desde el punto de vista computacional. (parecido a lo que se llamaba “ciclo” en los sesenta).


A traditional minimalist idea: Only lexical information will be computed by the language faculty. Sin embargo, la Recurssion only Hypothesis es una objeción a lo anterior: No podemos decir que el sistema computacional es cosa solamente de los humanos, y que nuestras entradas léxicas son complejas, a diferencia del mundo animal. Sin embargo desde el punto de vista de la mente animal sí que tienen una organización conceptual muy similar a la humana. No hay diferencia de calidad sino en términos de evolución. So, the lexicon might not be a part of the language faculty in the strict sense. Entonces solamente la capacidad de recursión es lo que es esencialmente humano. 


Entonces ¿qué es lo que computa el lenguaje que permite a la sintaxis generar construcciones en LF y PF?


Posicionamiento más reciente:



X






El sistema es ciego, y hace la computación buscando la pieza con el pointer por ejemplo [18125] que sería arbitrario. Es capaz de llamar al lexema, y no arrastraría la información desde el principio, como se decía antes. Sería muy difícil luego hablar de las conexiones entre el pointer [18125] “home” y “at” [320]. Si solamente tenemos un número, ¿cómo es posible que podamos combinar AT+HOME y tengamos un árbol del tipo:








[at]
[home]

y sin embargo no con “Clever” [10.011]. Si no hay estructura de predicados y argumentos no es posible que se hagan combinaciones correctas. La solución es que hay animales con sistemas parecidos. Chomsky  dice que solamente le interesa lo humano y hay que extraer solamente lo que es característico humano. Los sistemas semióticos no tienen que ser fonológicos. 

“RECURSION ONLY” limita la facultad del lenguaje a una operación combinatoria. ¿Cómo genero L entonces? ¿Qué me impide hacer una expresión que repita mil veces el mismo pointer? No le parece una posición sostenible. Esta es la posición Chomskyana más reciente.

Posibilidades:


Lo mínimo es un sistema que conecte un sonido con un significado. El léxico es una caja de lexemas. Pero en lugar de coger todas las piezas enteras desde el principio (violando el principio de Initial Lexical Access y el Lexical Integrity, que son básicas en el planteamiento Chomskyano) accediendo desde cualquier lugar a cualquier lexema o rasgo que me interese: acceder solamente a la información sintáctica, por ejemplo, con las entradas léxicas pertinentes. Luego en la morfología iremos a los rasgos mofológicos. Luego iremos hacia P y las reglas fonológicas llaman necesito ir a las características fonológicas del lexema. Lo mismo con LF, que sus reglas pueden llamar a los rasgos léxicos. Ahora no es necesario el Spell out de la teoría minimista (es decir, que los rasgos fónicos eran enviados al componente especial morfológico y fonológico y se separaban de lo semántico):




Levelt, por ejemplo diferencia dos diccionarios, el que tiene Lemas y el morfo-fonológico, y es necesario para la explicación de algunos errores fonológicos. Podría haber perfectamente esos dos o incluso tres diccionarios. Pero claro, no necesitamos tener varios diccionarios porque una conexión falle. Sencillamente puede fallar la conexión. No son capaces los psicolingüistas a decidirse por el número de diccionarios, pero eso es una trivialidad. Igual lo que se joroba con un accidente no es el almacén de palabras, sino la conexión con él. Pero la teorización es independiente y por eso Chomsky tiene razón en lo de que pensar que el lexicon es algo uno y punto. Es mejor para no complicarse. Como tiene problemas, pues por eso tenemos los otros modelos que hablan de romper con la Lexical integrity (lo de llevarse toda la pieza léxica desde el principio con todas los rasgos a cuestas) y tampoco necesitamos Spell Out porque no es necesario separar los rasgos fonéticos de los semánticos ya que nunca están juntos en las derivaciones (quizá sí que lo estaban en el diccionario).


El modelo Lineal habla de Continuous Lexical Access y No Lexical integrity. Alternativa a los dos modelos Chomskyanos, tanto el original como la propia revisión de Chomsky.




(Syntax, merge, move)






    Morphology
PF
LF


SD T0


 [Syntactic]

   Lexicon





SYN




PHON




SEM




MOR

Jackendoff dice que hay conjuntos de reglas conceptuales, sintácticas y fonológicas.





CR






Conceptual


Syntactic


Phonological


Representation

representation

representation

Con unas reglas de correspondencia. Las más importantes constituyen el lexicón, que es una especie de componente que sobrevuela a las reglas conceptuales (representaciones semánticas). No se puede tener ninguna representación conceptual sin reglas conceptuales. El diccionario es un conjunto de reglas de correspondencia y no tiene componente morfológico porque para él está dentro de la sintaxis. Es un planteamiento paralelístico en lo que todo está ahí distribuido. El lexicón tiene todo eso de antes dentro. El acceso es paralelístico y cada vez que creamos representaciones conceptuales, ésta tira de la sintaxis y crea una estructura sintáctica, y así sucesivamente. En el diccionario subyace lo que unifica a todo, el argumento al que se aplica, la función para dar un valor y como el argumento es constante...

2º Bloque: Morphology

Notas clase (muy pocas. Seguir sus fotocopias):

There are differences between syntactic and morphological constructions and that is why we need those boxes to be separate.

Word="minimal free form": so words can be found in isolation.

Any construction that involves a boud form is morphological for Bloomfield. 

Problem:



I + have + seen + it : There is a syntactic relationship

But what happens with contractions? What are they? Since we cannot find 've in isolation, does that mean that it is a morphological issue?

A root is a minimal structure usually monosyllabic: cvc, (cc)v(cc).

Root: The minimal sign.

"Root": old term 

"Syllable"

In Structuralism we find base of morpheme for root.

Root + affix (derivational or inflectional) = Usually understood as "STEM".





Verb=Word




        stem




  stem




root

am
a
ba
t

If you can inflect something = stem

When you cannot add anything else = WORD

A word without inflection is not a word.

me=word with full inflection. The case is there, though it is incorporated in the word.

There are bound forms that affect syntax, such as the Saxon Genitive:


Þe kyngis castle of Englaland


PDE The king of England's castle.

Evidentemente la estructura sintáctica se ve afectada por el uso del Genitivo Sajón.

¿Qué pasa con casos como boy-scout o Taxi-driver? They are free forms, so apparently they should have a syntactic structure. 

Morphology contains three basic processes: Derivation, inflection and compounding.

Some people think that compounding is in between syntax and morphology.

General structure: "right-hand head rule"...

Complements tend to be on the left:



book - ish



head

Even in compounds it tends to be on the left:



taxi-driver



        head

However, this is not the rule in all compounds.

¿Qué son esto?¿son compuestos, son sintagmas, frases?

Traje de baño/trajes de baño *traje de baños

son-in-law/sons-in-law

st “stem”: Something that has not received any inflection.





Esto no lo entiendo. No tiene sentido





I-language


Broca





Wernicke





We will use one or another depending on the context.





SEM.


FIELD





Lx





L





P





C-I SYSTEMS





ENCYCLOPAEDIC KNOWLEDGE





PRAGMATIC COMPETENCE: Inference, etc.





Chomsky prefiere no meterse en ello.





A-P





Morphology





PF-System





P





This is part of the computational system





L





P





Lo que aquí tendremos son “pointers”





P





L





C-I    Lexicon


       Lii     Lij.........Lin





El diccionario se encuentra aquí y no forma parte de la facultad del lenguaje.





LF





PF





Conceptual rules





Syntactic rules





Phonological rules
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